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Guess Paper – 2010
Class – X
Subject – Mathematics 

Time allowed : 3 hours 






Maximum Marks: 80

General Instuctions :

(i) All questions are compulsory.

(ii) The question paper consists of 25 questions divided into three sections —A, B and C. Section A contains 7 questions of 2 marks each, Section B is of 12 questions of 3 marks each and Section C is of 6 questions of 5 marks each.

(iii) There is no overall choice. However, an internal choice has been provided in one question of two marks each, two questions of three marks each and two questions of five marks each.

(iv) In question on construction, the drawing should be neat and exactly as per the given measurements.

(v) Use of calculators is not permitted. However, you may ask for Mathematical tables.

SECTION A
1. Without drawing graph, find where the line 2x+3y=6 cuts both x-axis and y-axis.
2. State the Euclid’s division Lemma.

3. If graph of a polynomial intersects x-axis at (-7,0) then write the polynomial.

4. If sum of first n terms of an A.P. is 4n2 + 3n + 1 , then find its second term.
5. If sinθ = cosθ , find the value of θ.

6. In a circle of radius 21 cm, an arc subtends an angle of 60 at the centre. Find the length of the arc.

7. Which measure of the central tendency cannot be found graphically?

8. A die is thrown once. Find the probability of getting a perfect square number.

9. [image: image26.png]From figure 1, find the value of


                                                                         Fig.1
10. In figure 2, M= N= 46. Express x in terms of a, b and c where a, b and c are lengths of LM, MN and NK respectively.
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SECTION B

11.  ABC is an isosceles triangle, in which AB = AC, circumscribed about
a circle. Show that BC is bisected at the point of contact.

OR

 Fig.3, a circle is inscribed in a quadrilateral ABCD in which               fig.3
[image: image2.png]


B = 90[image: image4.png]


. If AD = 23cm, AB = 29cm and DS = 5cm, find the radius(r) of the circle.
       12.
  A(–1, 2), B(4, 1) and C(7, 6) are three vertices of the parallelogram ABCD. Find the coordinates of fourth vertex.  
      13.
 If cot[image: image6.png]


=[image: image8.png]


, then evaluate [image: image10.png]


                      
14.   Find  the  value  of  k  for which 2k + 7, 6k – 2, 8k + 4 form  the three consecutive terms of an A.P.
 15.  King and queen of spade are removed from a deck of 52 cards and then a card is drawn, what will be the probability of getting a red king ? 


OR

  Cards marked with number 3, 4, 5, …, 50 are placed in a box and mixed thoroughly. One card is drawn at random form the box. Find the probability that number of the drawn card is (i) Divisible by 7.   (ii) A number which is a perfect square 
SECTION C

16.    Which term of the AP 3, 15, 27, 39, … will be 132 more than its 54th term?

OR
The sum of three numbers in AP is 30 and the ratio of first to third is 3:7. find the numbers.

17. If the points A (4, 3) and B (x, 5) are on the circle with the centre O(2, 3), find the value of x.

18. Determine graphically the vertices of triangle formed by   y = x,   3y = x,   x + y = 8 .

OR
Solve by the method of cross – multiplication :   ( a – b ) x + ( a + b ) y = a 2 – 2 ab – b2
( a + b )( x + y ) = a + b.

19.  Draw  a  triangle  ABC in which BC=6cm , AB=5cm and (ABC=60 then construct a triangle  similar to the given triangle  whose each corresponding side is 3/4th of that of triangle  ABC.

20.  Prove : cot A + cosec A – 1 = 1 + cos A
                  cot A – cosec A + 1       sin A

21.  L and M are the mid points of AB and BC respectively of 
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  22    Find the value for K for which x4 + 10x3 + 25x2 + 15x + K exactly divisible by x + 7.   
23.  Determine the ratio in which the line 2x + y -4 = 0 divide the line segment joining the points A (2,-2) and B (3, 7).Also find the coordinates of the point of division. 
 24.  The area of an equilateral triangle ABC is 17320.5 cm2. With each vertex of the triangle as centre, a circle is drawn with radius equal to half the length of the side of the triangle. Find the area of the shaded region.([image: image14.png]


 =3.14 and [image: image16.png]


= 1.73205)

25.  Prove that [image: image18.png]


 is an irrational number.

   SECTION D                                                                                        
26.  From a solid cylinder whose height is 8cm and radius 6cm, a conical cavity of height 8cm and of base radius 6cm is hollowed out. Find the volume of the remaining solid correct to two places of decimals. Also find the total surface area of the remaining solid. (take π = 3.1416)
OR
The height of the Cone is 30 cm.  A small cone is cut of at the top by a plane parallel to its base if its volume be1/27 of the volume of the given cone at what height above the base is the section cut?

27.  If a line is drawn parallel to one side of a triangle, to intersect the other two

sides in distinct points, prove that the other two sides are divided in the same ratio. State its converse also.
Using the above, prove the following:

In the figure, DE||BC and BD = CE. Prove that ABC is an isosceles triangle.
[image: image19.emf]
28.  A man on a top of a tower observes a truck at an angle of depression a where tanα = 1/[image: image21.png]


 and sees that it is moving towards the base of the tower. Ten minutes later, the angle of depression of the truck is found to be b where tan β=[image: image23.png]


5, if the truck is moving at a uniform speed, determine how much more time it will take toreach the base of the tower?

OR

The angle of elevation of a jet fighter from a point A on the ground is 600. After a flight of 15 seconds, the angle of elevation changes to 300. If the jet is flying at a speed of 720 km/hr, find the constant height at which the jet is flying.(Use[image: image25.png]


 = 1.732)
29.  Draw both less than and more than ogive on same graph and hence find median from the graph

	Wages
	10 - 20
	20 - 30
	30 - 40
	40 - 50
	50 - 60
	60 - 70
	70 - 80

	No. of workers
	4
	8
	10
	12
	10
	4
	2


30.  Some students arranged a picnic. The budget for food was Rs 240. Because four students of the group failed to go, the cost of food to each student got increased by Rs 5. How many students went for the picnic?

OR

A plane left 30 minutes late than its scheduled time and in order to reach the destination 1500km away in time, it had to increase the speed by 250 km/h from the usual speed. Find its usual speed.
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